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Assignment #6

Transportation & Assignment

DUE:  October 17

25 points
A.  Examine problem #6 on pages 344-5 of the textbook.


1)  Define the problem and the decision variables.


2)  Formulate the linear programming model.

3)  Complete part (b) of the problem.  Print the STORM solution and label it (A3).


4)  Complete part (c) of the problem.  Print the STORM solution and label it (A4).

5)  The Mobile warehouse has increased it order by 500 units, but none of the plants can increase production.  Determine the effect on the optimal solution.  Print the STORM solution and label it (A5).

6)  The Denver warehouse must occasionally close when the weather gets severe.  Determine the effect on the optimal solution.  Print the STORM solution and label it (A6).


7)  Write the memo to management.

B.  A job shop has four machinists to be assigned to four machines.  The hourly cost of having each machine operated by each machinist is:

	Machinist
	Machine W
	Machine X
	Machine Y
	Machine Z

	1
	$12
	11
	8
	14

	2
	10
	9
	10
	8

	3
	14
	8
	7
	11

	4
	6
	8
	10
	9


1)  Determine the optimal assignment and compute the minimum cost.  Print the STORM solution and label it (B1).

2)  Machinist 3 is on an extended sick leave.  A new machinist is brought in to temporarily replace him, but he cannot operate Machine X.  Determine the new optimal assignment and computer the minimum cost.  Print the STORM solution and label it (B2).

3)  Write the memo to management.

